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* HENBRIE. HER BADFRHAE (FM2F1289) OE1RIZLD,

1 =%
(1) BgxEE
(£{K] (35 ki) [35~597%]) [60mLLE]
A% (M) | H&B%* | A% (F) A% (M) | HEB%*x | A% () A% (M) | HEB%*x | A% () A% (M) | B8 B%=x | A% (M)
A B (A%XB) A B (A %XB) A B (A%XB) A B (A %XB)
&/IME 12,500 19.8 247,500 =/ME 18, 000 19.8 356, 400 =/IME 12, 500 19.8 247, 500 =/IME 23,000 19.8 455, 400
&XE 32,000 19.8 633, 600 =AE 26, 700 19.8 528, 660 =AME 32, 000 19.8 633, 600 =XAE 30, 000 19.8 594, 000
F{E 20, 922 19.8 414, 252 EHIE 22,303 19.8 441, 603 EHE 18, 425 19.8 364, 820 F{E 26, 500 19.8 524,700
P R{E 20, 000 19.8 396, 000 o fE 21,816 19.8 431, 957 h o fE 17, 250 19.8 341, 550 R R {E 26, 500 19.8 524,700
RAEfE 20, 000 19.8 396, 000 =AE(E - 19.8 - =AEE 20, 000 19.8 396, 000 =IEE - 19.8 -
AR 10 AR 5 ¥ 8 ¥ 2
2 BEZ®E
[21K] [35mKim] [35~597%] [60mLLLE]
A% (M) | H&B%* | A% (F) A% (M) | HEB%*x | A% () A% (M) | HEB%*x | A% () A% (M) | B8 B%=x | A% (M)
A B (A%XB) A B (A %XB) A B (A %XB) A B (A %XB)
&/IME 25, 000 19.8 495, 000 =/ME - - - =/IMiE 20, 000 21.6 432,000 =/IMiE - - -
PN [ 25,000 19.8 495,000 > PN [ - - - mAE 20, 000 21.6 432, 000 =AE - - -
TiYE 25,000 19.8 495, 000 TiYE - - - FiE 20, 000 21.6 432, 000 FiE - - -
FR{E 25, 000 19.8 495, 000 =P 3 [ - - - R {E 20, 000 21.6 432, 000 R fE - - -
=4E(E - 19.8 - =HE(E - - - =HEE - 21.6 - =HEE - - -
AR 1 AR 0 BAR 1 BARH 0
2 &xIE&E
(1) E8mEE
[21K] [35mKim] [35~597%] [60mLALE]
A% (M) | HEhB%* | A% (F) A% (M) | HEB%*x | A% () A% (M) | HE 8%« | A% () A% (M) | L8 B%=x | A% (M)
A B (AxB) A B (AxB) A B (AxB) A B (AxB)
&=/MiE 9, 381 19.8 185, 744 =/ME 10, 000 19.8 198, 000 =/MiE 9, 381 19.8 185, 744 =/MiE 18, 000 19.8 356, 400
PN [ 30, 000 19.8 594, 000 =RAE 26, 700 19.8 528, 660 mAE 30, 000 19.8 994, 000 =AE 30, 000 19.8 594, 000
TiYE 17,015 19.8 336, 891 EHE 16, 353 19.8 323, 7193 EHE 17,048 19.8 337, 543 FiE 24,000 19.8 475, 200
FR{E 15, 750 19.8 311, 850 o fE 15, 000 19.8 297,000 h o fE 15, 750 19.8 311, 850 R R {E 24,000 19.8 475, 200
RAEfE - 19.8 - =AE(E - 19.8 - =HEE 15, 000 19.8 297,000 =IEE - 19.8 -
BAY 10 BAY 5 FAH 8 FAH 2




2) HEFHBE

(£{K] (35 ki) [35~597%]) [60mLLE]
A% (M) | H&B%* | A% (F) A% (M) | HEB%*x | A% () A% (M) | HE 8%« | A% () A% (M) | 48 B%=x | A% (M)
A B (A%XB) A B (A %XB) A B (A%XB) A B (A %XB)
&/IME 25, 000 19.8 495, 000 =/ME - - - =/IMiE 25, 000 19.8 495, 000 =/IMiE - - -
&XE 25,000 19.8 495,000 &XE - - - =AIE 25, 000 19.8 495, 000 =XAE - - -
F{E 25, 000 19.8 495, 000 F{E - - - F{E 25, 000 19.8 495, 000 FH{E - - -
P R{E 25, 000 19.8 495, 000 =P 3 [ - - - R {E 25, 000 19.8 495, 000 R fE - - -
=HE(E - 19.8 - =4E(E - - - =HEE - 19.8 - =HEE - - -
AR 1 AR 0 ¥ 1 ¥ 0
3 FEkE
(1) E8mEE
[21K] [35mKim] [35~597%] [60mLLLE]
A% (M) | HEB%* | A% (F) A% (M) | HEB%*x | A% () A% (M) | HEB%* | A% () A% (M) | H8hB%=x | A% (M)
A B (A%XB) A B (A %XB) A B (A %XB) A B (A %XB)
&/IME 10, 309 19.8 204,118 =/ME 16, 941 19.8 335, 432 =/IME 10, 309 19.8 204,118 =/IME 20, 000 19.8 396, 000
PN [ 30, 000 19.8 594, 000 =RAE 26, 700 19.8 528, 660 mAE 31,000 19.8 613, 800 =AE 30, 000 19.8 594, 000
TiYE 18, 988 19.8 375, 953 EHE 19, 562 19.8 387, 320 EH{E 17, 601 19.8 348, 502 FiE 25, 000 19.8 495, 000
FR{E 17,750 19.8 351, 450 o fE 18, 000 19.8 356, 400 h o fE 17,000 19.8 336, 600 R R {E 25, 000 19.8 495, 000
=HE(E - 19.8 - =HE(E - 19.8 - =HEE - 19.8 #N/A =HEE - 19.8 -
AR 10 AR 5 BAR 8 BARH 2
2 BEZ®E
[21K] [35mKim] [35~597%] [60mLALE]
A% (M) | HEhB%* | A% (F) A% () | HEB%*x | A% () A% (M) | HEB%*x | A% () A% (M) | 48 B%x | A% (M)
A B (AxB) A B (AxB) A B (AxB) A B (AxB)
&=/MiE 25,000 19.8 495, 000 =/ME - - - =/IME 25,000 19.8 495, 000 =/MiE - - -
PN [ 25,000 19.8 495,000 > PN [ - - - mAE 25, 000 19.8 495, 000 =AE - - -
TiYE 25,000 19.8 495, 000 TiYE - - - FiE 25,000 19.8 495, 000 FiE - - -
FR{E 25, 000 19.8 495, 000 =P 3 [ - - - R {E 25, 000 19.8 495, 000 R fE - - -
=4E(E - 19.8 - =HE(E - - - =HEE - 19.8 - =HEE - - -
BAY 1 BAY 0 FAH 1 FAH 0




